
Szkolny Konkurs Matematyczno-Informatyczno-Językowy - I etap - 2013 

 
Imiona i nazwiska:  …………………………….…….   
   ………………………………….. 

………………………………….. Klasa: ……………………..  Punkty: ……………/30  
UWAGA!!! wymagana jest pełna poprawność językowa wpisywanych wyrażeń (gramatyczna i ortograficzna). 
 

1. (1 pkt) The United Kingdom is made up of: 

a. England, Scotland, Wales, Great Britain. 

b. England, Scotland, Wales, Northern Ireland. 

c. England, Scotland, Wales, The Republic of Ireland. 

d. England, Scotland, Wales, The British Isles. 

 

2. (1 pkt) The term „cache” means: 

a. An electronic non-volatile computer storage device that can be electrically erased and 

reprogrammed. 

b. A component that transparently stores data so that future requests for that data can be served 

faster. 

c. A pre-pressed compact disc which contains data. 

d. A non-volatile memory card format for use in portable devices, such as mobile phones, digital 

cameras, GPS navigation devices, and tablet computers. 

 

3. (1 pkt) Jeśli  𝑥 − 𝑦 = 𝑦 − 𝑧 = 𝑧 − 𝑡 =1  to x-t nie może być równe: 

     a. 0  b. -3  c. 3  d.-1 

 

4. (1 pkt) What is the busiest airport in or around London? 

     a. Luton  b. Gatwick  c. Stansted  d. Heathrow 

 

5. (1 pkt) Dopasuj do nazw określenia wpisując odpowiednie cyfry przy literach poniżej:  
  

a. Excel 
b. Open Office 
c. GIMP 
d. Java 

1. Edytor grafiki 
2. Język programowania 
3. Pakiet programów biurowych 
4. Arkusz kalkulacyjny 

 

6. (1 pkt) Ile cyfr  w zapisie dziesiętnym posiada liczba 45 ∙ 513  

a. 12  b. 13  c. 16  d. 17 

 

7. (1 pkt)  St. Patrick’s Day is celebrated on… 

a. 7th January 

b. 17th March 

c. 7th July 

d. 17th November 

 

8. (1 pkt)  W języku html aby wymusić dodatkową spację, należy użyć kodu w postaci: 

a. &bpsn; 

b. &npsb; 

c. &snbp; 

d. &nbsp; 

 

9. (1 pkt)  Która z poniższych funkcji spełnia warunek  f(f(x))=4x-3 ? 

a.  f(x)= 2x-3  b. f(x)=-2x+3  c. f(x)=2 𝑥-3  d. f(x)=-4x+1 



 
 

10.  (1 pkt) Henry VIII was most famous for (choose two options): 

a. Breaking away from the Church of Rome 

b. Bringing peace in the UK 

c. Marrying six times 

d. His great skills of art 

e. Writing poems for the nation 

 

11. (1 pkt) Cyfrowy graficzny symbol znakujący obrazy i identyfikujący twórcę lub właściciela 

majątkowych praw autorskich to ………………………………………………………………………… . 

 

12. (1 pkt) Proste o równaniach:    y= 𝟑x+2   i   x=6   przecinają się pod kątem  …………° 

 

13. (1 pkt) Which ones are not associated with England: 

a. Red double decker buses 

b. Black taxi cabs 

c. Red pillar/post boxes 

d. Yellow taxi cabs 

e. Red telephone boxes 

 

14. (1 pkt) W jaki sposób wstawisz w dokumencie html obraz o nazwie „wiewiorka.jpg”? 

…………………………………………………………………………………………………………………………………….. 

15.  (1 pkt) Przekątna sześcianu jest o 2cm dłuższa od jego krawędzi. Jaka jest długość krawędzi tej bryły?  

.............................................. 

 

16. (1 pkt) This famous British politician, who was the Prime Minister of the United Kingdom from 1979 to 

1990 and the Leader of the Conservative Party from 1975 to 1990, died at the age of 87 on 8 April 2013: 

a.  David Cameron 

b. Margaret Hilda Thatcher 

c. Tony Blair 

d. Gordon Brown 

 

17. (1 pkt) Jaką kombinacją klawiszy cofniesz wprowadzone zmiany w dokumencie tekstowym? 

a. Ctrl+s 

b. Ctrl+Shift+Enter 

c. Ctrl+Enter 

d. Ctrl+z 

 

18. (1 pkt) Cięciwa AC okręgu o środku w punkcie O i średnicy 12cm ma długość 8cm . Oblicz wartość 

cosinusa kąta ACO.    …………………………………………………………………………………………. 

 

19. (1 pkt) Where is the White House located? Give the name of the city ………………………………………….... 

 

20. (1 pkt) Który z wymienionych programów nie znajduje się w pakiecie Adobe? 

a. Photoshop 

b. Illustrator 

c. InDesign 

d. Inkscape 

 



21. (1 pkt) Tesco is open Monday through Saturday from 8:00 AM to midnight and Sunday from 10:00 AM 

to 8:00 PM. How many hours is it open in one week? ………………………………………………………… 

 

22. (1 pkt) ………………………………………… was the first President of the USA: 

a. George Washington 

b. Abraham Lincoln 

c. Barack Obama 

d. Thomas Jefferson 

 

23. (1 pkt) An American business magnate, investor, programmer, inventor and philanthropist. He is the 

former chief executive and current chairman of Microsoft, the world’s largest personal-computer 

software company.    ……………………………………………………………………………………….. 

 

24. (1 pkt) Justin Bieber has asked Michael to dance in his latest music video. If Michael is offered $56160 

to dance in a 4 minute video, how much will he be paid for one minute of that video? 

…………………………………………………………………………………………………………. 

 

25. (1 pkt) The Oscar Award for Best Picture 2013 went to: 

a. “Lincoln” by Steven Spielberg 

b. “Argo” by Ben Affleck 

c. “Life of Pi” by Ang Li 

d. “Django Unchained” by Quentin Tarantino 

 

26. (1 pkt) Formatowanie komórek w Excelu, które ustawia format dla numerów telefornicznych to: 

a. Niestandardowe  b. Liczbowe  c. Specjalne  d. Ogólne 

 

27. (1 pkt) Is it possible to divide the face of a clock with 2 straight lines so that the sums of the numbers in 

each part are equal? …………………………………….. 

 

 

 

 

 

28.  (1 pkt) This year Adele was given the Oscar for Best Original Song for………………………....................... 

 

29. (1 pkt) Adres IP to: 

a. Numer nadawany interfejsowi sieciowemu, grupie interfejsów (broadcast, multicast), bądź całej 

sieci komputerowej służący identyfikacji elementów warstwy trzeciej modelu OSI – w obrębie sieci 

oraz poza nią. 

b. Standard zdefiniowany przez ISO oraz ITU-T opisujący strukturę komunikacji sieciowej. 

c. Jeden ze sposobów zabezpieczania sieci i systemów przed intruzami. 

d. Standard kart sieciowych obecnie niemal całkowicie wyparty przez standard Ethernet. 

 

30. (1 pkt) Tosia potrafi wyprasować 10 koszul w ciągu 2 godzin i 5 minut. Ile koszul wyprasuje w ciągu 50 

minut? …………………………………………………………….. 


